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English Version :
(Use a separate Answer book for each group)
Group—-A
Unit-1
1. Answer any two questions from the following :
a)  “Esse est percipii” — Explain this statement after Berkeley.
b)  What is meant by abstract general idea?

c) How does Locke distinguish between simple and complex ideas.
d) Explain Locke’s view on Substance.

2. Answer any one question from the following :
a)  What is meant by innate idea? How does Locke refute the innate-idea-theory?

b) How does Berkeley refute the Lockean distinction between primary and secondary qualities
and thereby establish the non-existence of material substance?

Unit-11
3. Answer any two questions from the following :
a)  What is scepticism?
b)  What is meant by synthetic statement? Discuss after Kant.

c) How does Hume distinguish between ‘Matters of Fact” and ‘Relation of Ideas’?
d)  What is meant by A-Priori statement? Explain after Kant.

4. Answer any one question from the following :

a)  What is perception according to Hume? How does Hume distinguish between impression and
idea? — Discuss.

b)  What is the Copernican Revolution? How does Kant claim to bring a Copernican Revolution
in Philosophy? Explain the significance of this revolution. (5

5. Answer any two questions from the following :
a)  Show that ‘it is necessary that —’ is not a truth functional connective.
b)  What will you get by denying a consistent schema? Explain with an example.

(3)

(2%3)

(1 x 15)
(5 + 10)

(15)

(2% 3)

(1 x 15)
(5 + 10)

+5+5)

(2x5)



c)  Distinguish between different senses of ‘or’.
d) Is it possible for an invalid argument form to have a valid substitution instance? Explain with
examples.
Answer any one question from the following : (1 % 15)
a) Determine, by truth table method, whether the following forms of proposition are
tautologous, self-contradictory or contingent : (2+2)
) (pvp)=p
i) po[p>(a-~0a)
b)  Test the validity of the following arguments by truth table method : (3+3)
) (HoDh)-(H>J)
H-(Iv))
R VAN

i) If Angola achieves stability then both Botswana and Chilli well adopt more liberal
policies. But Botswana will not adopt a more liberal policy. Therefore, Angola will not
achieve stability.

c)  Explain with examples the paradoxes of material implication. (5)
a)  Determine the truth value of the following by the method of resolution: (3)
[(P-a)v(~p-~nN]I=(@=")
b)  Test the validity of the following argument form by the method of resolution. 4)
p>o(-n
(Qvr)os
L pDSs

c) Determine by fell swoop method whether each of the following schema implies the other : (2%2 + 2%%)
~pop,(~p-~aq)>(qvr)
d) Determine by the method of resolution whether the following schemata are equivalent : (3)
po>@-~a),(~pva)-(~pv~0)
Unit-11
Answer any two questions from the following : (2x5)
a)  Explain with example the rule of existential instantiation. (EI)

b)  What is a normal form formula? Give the equivalent normal form of the following:
~(X) (~ IxvIx)

c)  What is meant by ‘formal proof of validity’?

d)  What is the necessity of quantification theory? Explain.

Answer any one question from the following : (1% 15)
Construct formal proof of validity for the following arguments: (any three) (3x5)

a) Gold is valuable. Rings are ornaments. Therefor gold rings are valuable ornaments.

b) If either Socrates is happily married or not happily married, then he is a philosopher
Therefore, Socrates is a philosopher.

c)  (X)(Sx=~Sx)

s (X) (Px o Qx)
d U>V) - (W>oX)
(U W) (V- X)
a)  Symbolise the following using quantifier individual variable etc. (any four) (4 x 1)

i) A boxer who wins if and only if he is lucky is not skillful.
i) A carwhich is over ten years old will be repaired unless it is severely damaged.
iii)  Some foods are edible only if they are cooked.
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iv) Doctors and professors are intelligent.
v) Plato and Aristotle are Greeks and philosophers.
Prove the invalidity of the following arguments by the method of truth value assignment (any

three) (3x3)
) Do(EVEF

GoHvVI

~Eo(Iv]))

(I2G)-(~H>~0)

~J

DGV

i) (3x) (Kx - Lx)
(3x) (~Kx - ~Lx)
~.(3x) (Lx - ~KXx)

iii)  If anything is metallic, then it is breakable. There are breakable ornaments. Therefore,
there are metallic ornaments.

iIv)  Only students are members. Only members are welcome. Therefore, all students are
welcome.
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